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Q1. When there is the difference between the existing price and optimal price is
small, the potential gain of making price adjustment is ------- .| SIcgT aredfds

fFAq g waca fhAa giata awaa s 314, fFAd gAY
R2ES oo i e ) i ppe— 3r|dr.

a) Small / elgleT

b) Very Small / gU olglel

c) Large / HIaT

d) Very Large / @9 #rar

Q2. Which is false during the recession? / HEIAT eHTT HIUTd ITT 3T8?
a) Output level is quite low / 3cdTesT UTda & fhfaa Felr 3/aa.
b) Employment level is quite low / TSR 9TdadT & fohfad &ar 3.
c) Large number of factories work below capacity / F'edT TEIA HRGTA
g &HATIT Wlell S Hld.
d) Both output and employment level is high / Glegl 3cdTgsT 3TTTOT AR
qTdedl 3T 3THdTd.

Q3. According to New Keynesian Economists, ------- are the reason of price
stickiness. / ATdsT haAT@IA FATAIT A, ------- g AT dretay &Rl
3Te.

a) Marginal cost/ @HT @I
b) Average cost / SR @Y
¢) Menu cost/ #eg TH
d) Sunk cost / gfSeT @



Q4. According to the rational expectations model, while the price level and the
money wage rate will raise permanently on one hand, on the other hand output

and employment will --------- | THHITA 3YET ASel AR, SR fohAdT UTcTad!
3ATTOT YRATelTel dclel X &1 Uehlehs hIIHEIEUT dlcel, GEIhS 3cdTeeT 31TToT

a) Decrease / &

b) Increase / A&

c) Increase or decrease / aTad fohar gea
d) Remain the same / 2R Tgd

Q5. The rational expectation model points out the ineffectiveness of the economic
policy as it shows that the real variables ----------- remain unaffected even if

expansionary monetary policy is followed. / THTIT HULT HISHT g TH
GO 3TFTIGTAAT gad - arEdfdsh I AVATET Tgd ST

a) Output level only / $dd 3cdigeT UTdod!

b) Employment level only / 3de USTaTR ITdied!

c¢) Unemployment level only / hda& SRISTIIR 9Tdiad!

d) Output and employment levels / 3cdTesT 3TTTOT USTITR AT

Q6. Which of the following is/are determinant/s of wage rate?/ @Telleldent
HIUTAT/A AT D AU RH/F 3TR?
a) Only labour supply curve / $hdes A I dsh
b) Only labour demand curve / $hdcd & HETON dh
c) Both labour supply curve and labour demand curve / &lear S qi{qar dsh
30T /A AT a%
d) Neither labour supply curve nor labour demand curve / ST H/H YIIST dsh
T SH AU dsh



Q7. According to condition of second order, the price level (P) and relative prices

of the firms | GHT AT IETER, fhAd e (P) 3nfor
3CANTHEATAT HYET fohach
a) Increases / diedrd
b) Remains same / fE2R TgdTd
c) Decreases / T gidrd
d) Volatile / 37T&2R

Q8. does not occurs during recession. / HGTAT HIdId
3cead Sl

a) Low national income / & TSET 3cToaT

b) Low productivity / &I 3cdTcehdl

c) Less output / hHT 3IcUTGeT

d) High productivity / 3Td 3cqigehdl

Qo. rises as monetary policymakers choose to pursue short-term goals

leading to missing the long-term goals. / TAATAITSR TRV TeTehlollel
ST ATSYNTET 0N GHd FRATd SARS STl 36[45¢ gelfald
holl STl UL ared.

a) Dynamic consistency / AT FEHITAAT

b) Dynamic inconsistency / 3Tfa#TeT fAgaTr

c) Static consistency / FE FHaTeIT

d) Static inconsistency / 2R fagaTclT




Q10. According to McCallum, central banks can discern long-term
of those temporary positive in the short-term. / HTTHTAT AT, ALITAT Sopl

T HeTehTollel deqlcdl HPRIcHAI  ETEhTelle] 3N
AMehdTd.

a) Negative effects / dhRTcHD TATT

b) Infinite effects / 317 J3TTa

c) Positive effects / HhRTcHD TATd

d) Zero effects / [T FATd



